
Det. A

Sez. B-B

Det. Z

Scale 1 : 3

Det. Y

Scale 1 : 3

Det. X

Scale 1 : 3

A

B

B

Z

Y

X

Total Weight
Kg

CODE

AC MOTOR IN  WHEEL UNIT

Traction motor data

Type :  AC Asynchronous

Power

Motor voltage  (~3)

Battery voltage

Speed

Frequency

Current

Torque

Enclosure

Brake torque

W

V

V

Rpm

Hz

A

Nm

IP

Nm

Traction gear data

Gear ratio

Max accel. and braking torque

Nominal wheel torque

Lubrication

Max load on vulkollan wheel

Max load on poliurethan wheel

Max load on solid rubber wheel

Nm

i

Kg

Nm

     

Kg

Kg

Steering gearmotor data

Type :  AC Asynchronous

Power

Motor voltage  (~3)

Battery voltage

Motor Speed

Frequency

Current 

Motor torque

Enclosure

Gear ratio 

Gear output torque

Rpm

Hz

Nm

W

V

V

A

IP

i

Nm

Scala :

Scale :

A3

Dis :

Drawn :

Data  :

Date :

Lubrication

C.F.R. srl

Modena - Italy

MRT99.0022

6000

27

48

2900

100

167

19.75

20

1:25.6

1400

455

2600

-

-

Oil

32

800

27

48

2800

100

22

2.7

1:45.56

92

20

Grease

189

1 : 8

AC motor type AME200 - 160 - 4

AC motor type AGE106 - 80 - 4

Rev.

A

B

C

Description Date Signature

   

   

   

13/01/2021

A.A.

Curve  

Curve  

4
2

0

2
3

9
0
3

12 h6

126

105

1
7
4

.
5

57

114

Crown z.142

343

Plug AMP Automotive superseal 1.5

Series P2 282104-1 

Thermic Sensor STS1 U129

Brake 32 Nm - 42V

+ Hand release

Plug AMP Automotive superseal 1.5

Series P4 282106-1 

Encoder RT 64 PPR

225.3

6
2

3
0

0
.
5

6
8

3
8

6
1
.
5

3
1
1
.
5

4
8
3

3
2

7
6

.
5

2
5

1

Encoder Bearing 48 PPR

BMO-6204/048S2/EA002A

Plug AMP Automotive superseal 1.5

Series P2 282104-1 

Thermic Sensor STS1 U129

4

0

°

69161195

2
5

1
7

0
1
0
0

1
7

0
2
5

4
4
0

4
9
0

30 180 180 35

425

6

0

°

N°6 Holes Ø15

N°2 Holes Ø18

5

2

N°3 Holes Ø7

a 120°


3

8


4

2
 
H

7


6

4

7

2

N°4 Holes M5

at 90° - Deep 25

Do not use Loctite

Non usare Loctite

 

Screws M12 class 8.8 tightening torque : 95 Nm

Coppia di serraggio viti M12 classe 8.8 : 95 Nm

 

Screws M8 class 8.8 tightening torque : 22 Nm

Coppia di serraggio viti M8 classe 8.8 : 22 Nm


3

4

0

Pinion z.26

N°1 Washer

Nord-Lock NL10

N°1 Screw M10x30

8.8 UNI 5739

5

N°6 Washer 12 ISO 4759

(D.24 d.12.4 t.1.8)

lock washer, conical spring

washer (CS) standard

NFE 25-511 Z

N°3 Screw M8x25

8.8 ISO 4762

N°6 Screw M12x60

8.8 ISO 4762

N°6 Washer 12 ISO 4759

(D.24 d.12.4 t.1.8)

lock washer, conical spring

washer (CS) standard

NFE 25-511 Z

2

1

0


3
4
3

16

8

30

3

0

°


